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Aufgabe 1 _
_— Quick:
4869

Vereinfache und entferne die Klammern.

a) (0 —14)% -4 = (a® — 28a + 196) - 4 = 4a? — 112a + 784
b) (z 4 6)(z — 6)x = (22 — 36)x = 23 — 362

o) (z —y)? -8 = (2% — 2zy + y?) - 8 = 822 — 16zy + 8y2
d) (3 + 2)%x = (22 + 63 + 9)z = 2% + 622 + 92

e) 2(b—a)? = 2(a2 — 2ab + b%) = 2a% — 4ab + 202

1 5(a—5)% = 5(a% — 10a + 25) = 5a® — 50a + 125

g) (z4y)%-10 = (a: + 2zy +y2) - 10 = 1022 +20:1:y+ 10y>
h) z(z + 16)? = z(z% + 322 + 256) = sc + 3222 4 256

i) (a +20)(a — 20) = (a® — 400)a — a® — 400a

i) z(z+ 1) = 2(2? + 2zy + y2) = 23 + 222y + ay?
Aufgabe 2

Quick:
4869

Vereinfache und entferne die Klammern.

) (:L°+y)2(flr—y)—932:(fL‘z—yQ)—xQ:—y2

by (b — a)* + a® = (a® — 2ab + V) + a® = 2a® — 2ab + b

—yr = (22 + 2ay + y?) — yz = 2 + 2y + ¢
(22462 +9) -3z =22 4+3zx+9

9+ 2)(9—2) + 2% = (81 —2?) + 2> =81

a’ + (a+b)(a —b) = a® + (a® — b?) = 2a* — b?

) (a — b)? — a% = (a® — 2ab+ b%) — a? = b* — 2ab

h) 22 + (18 — 2)% = 22 + (22 — 367 + 324) = 222 — 36z + 324

. 2 2 _ (.2 2 2 _ 2

) (y+2)° —2*= (2" + 22y +y°) —2° =21y + ¥

) (y+o)y—2) —a? = (y* —2?) — 2% = y* — 227

Aufgabe 3

Quick:
4869

Vereinfache und entferne die Klammern.

a) (a+15)% - 4 = (a® + 30a + 225) - 4 = 4a® + 120a + 900
b) 4(17 — a)? = 4(a® — 34a + 289) = 4a® — 136a + 1156
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¢) (a+15)%-6 = (a +30a 4 225) - 6 = 642 + 180a + 1350
d) 3(a — b)? = 3(a® — 2ab + b%) = 3a® — 6ab + 3b

e) 8(a +19)% = 8(a2 + 38a 4 361) = 8a? + 304a + 2888
)44 — )% = 4(2? — 8z 4 16) = 422 — 322 + 64

¢) (a+b)?-4= (a2+2ab+b2) 4 = 4a® + 8ab + 4b?

h) 7(5 — a)? = 7(a% — 10a + 25) = 7a? — 70a + 175

i) (a+3)%-10 = (a® 4 6a +9) - 10 = 10a® + 60a + 90

) (T—a)? 9= (a?—14a +49) - 9 = 9a® — 126a + 441
Aufgabe 4

—

Vereinfache und entferne die Klammern.

a) (z + 15)% 4+ 152 = (22 + 30z + 225) + 152 = 22 4 452 + 225
b) (9 — )+10:(:1:2—18x+81)+10:a:2—18x+91
¢) (a+b)? +ba—(a2+2ab+62)+ba:a2+3ab+b2
d)9+(a:+12) —9+(a;2+24a:+144)::c2+24a:+153
)(y+x) r = (22 +2:cy+y)x:x3+2x2y+xy2
f)(b—i—a)(b—a)—l—ab—(b2 a®) + ab = ab — a® + b?
(a—17)°+8 = (a2 —14a—|—49)—|—8:a2—14a—|—57
h) a(a+b)(a —b) = a(a® — b?) = a® — ab?
3+ (b+a)® =3+ (a®+2ab+b%) = a + 2ab+ b2 + 3
)24 (14— a)? =2+ (a2 — 28a + 196) = a2 — 28a + 198

Viel Erfolg!
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